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Data Sufficiency
58004 DoYDS

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BB 1508 20 385 ad) 158 (54,5 .8 D4, od (Bod LI ed H&en fo Bodh

[Hddaren AdToTen adsa@on. @) SB0aR)) Soddrfod), @d))d
IDS3BTen (H1)5 HSrprad) aBiothdh HusTen elHwodr So @d
AT Bomre). & AT EwH (208 I;rOSEE Ar(Bren SHA3FAo) (1) Do (4) &%
D8 @ond 2arand JodE Tohod.

(a) 1959 %0 HSrEESo aTH0HH DSBS 1 SrSD HomsRhond b aaren (1) ™
HBodod.

(b) 125945 HSrgrdo aB@johdo (HDdSS0o I Sredeh SHorgRdond D saran (2)
™ $H8o0dGo0b.

(0 D% 1% HSrgrdo adiohd DidSaren LI 0D dogddon @ohds O
2.£5.63 Sorme HSosno TES 2o (3)  Hiodok.

(d) 4% DSrgrdo aBdjodHd HDodaren LI 0D Sroe SHorgdo o¥ e 55
S80f0 @IHEDond b 2avan (4) r HBodobk .

For a=1. b>1. what 1s the LCM of ¢ and 5?

a=1l, b=l e a,be @ws, 5.0 208?

I

II.

Product of @ and b 1s 1763

a ooy b oeypo1763

a and b are coprimes

a HBOS® b D |HTrarosten
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IL.

Data Sufficiency
B00¥ DoDS

In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

115008 20 85 2035 1H8 153 S 2.8 (H¥), o0 (Bod LIl ed H&en Ko Bodd
DdBaren SToTen @SspBFon. WIS ST0FTR) Godiriod), @)
DS3BTen (D15 DSrerad) B o JusTen eHEolr Do @l b
AT Bomre). & TS (206 SP0SE % dr(@ren SHBFA0D) (1) Mod (4) S55
28 wond aarad Jo0dE Tohodbk.

(a) 153250 HSrErd0 T H0HE DSBS I SPS T dorsRHond b 2o (1) ™
Hlodod.

(b) 154350 JHSrprdo @055 (Hdd0 I &b sh SHorgRSond D = (2)
™ HBotod.

() (D415 JSrprdo adjohd (DdSaren LI 50D Sugddon @othd O
2,%2.63 S Hur g0 TEFPB aaren (3) m Hiododb.

(d) (H¥1% JSrEEso ad)odhH (Didaren LI X0 Srae HursRo 5o edds)
SB030 @SHEHond 2 aaren (4) e HBododk.

¢ are positive integers, 1s their product a b ¢ even?

e ﬁzﬁaﬁq’gosamaanﬁ.mﬁt@n abc %o dowy; OHSo?
a+b+cisodd

a+ b+ c Sddony

a + ¢ 1s odd

a + ¢ B Howg
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(1) Data Sufficiency
BHR0E DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BrSd 1 &0d 20 385 2D 18 198 (59,5°% .8 (154), o0 (Bod LI ed H&en o Bodh
Radaren AToFen @WHsATON. QLD SB0FTW) GoaddrAod), =)
DaSaren (D95 SSrprad) adyoHhd JSusPen efHerodr Sor @l b
AT Bomre). & AT (Bod Sr0dd 8 Sr(@en H3PA0D (1) Hod (4) S5
28 @wond aarand JodhE Wohob.

(a) 1H¥2% HSrprd0 B0 (DIES0 I SPS R Sorsaond b aoran (1) T
H8odod.

(b) 1254 % DSrrdo aBjoh iy Do I Srebsh SHorgRdond D s=aan (2)
m Hh8odob.

() H¥3% JSrprdo adjothd Bddoren LI ¥0D Sosdlon e@odhd D
24563 oo HusR0 TES earen (3) m hBodobk.

(d) D415 JSrprdo adjoh® Hddaren LI 0D Srme ST gno ¥ eddsd)
S8 030 @IHBHond M aaan (4)  HBododh .

Isa=5b?
a = b oHHebowe?

I. x—3 is a factor of x¥>— 279

17— 277 s, 28 eeto Y—3

I x—2is a factor of x*— 16?2

vt — 16° s, 2.8 spaso x—2
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Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2,563 S Sorsdo TEFB earen (3) T HhBodbod.

(d) D415 JSrgrdo adjockhd Hadaren LI 0D Srar HTsoo ooF eddd
48040 @l3H8Hond D =aren (4) - HBodod.

Is the porallelogram ABCD a rectangle?

ddross sebggzo ABCD 25 dgseogn?

L. ae—=102

1. /A+ /B=180°

Options:
1.v1
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Data Sufficiency
BIR0E DoYUDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPES 1 15008 20 585 9D )S 158 154385 2.8 (D%, o0 (Bod LI @d KHen fe> Bodh

HDSdBaren SBoaen @ldsaBron. @S SB0FN) GHABrAod), @)
DdBaren (HIH0 DSrrard) @B ok dosTen eHBOSr Sor @l bk
AT Bomre). & AT O (Bod Ir0&88,% dr(dren SH03HoD) (1) dod (4) S5
28 @ond 2ard dohE TWohob.

(a) 15325 JHSrErho aB)oth % DSBS ISP ST sR5H008 b oo (1) ™
MhBododk.

(b) (53350 DSPEES0 RWH0HE [HDdDS0o I Sejebsh SorgRSond Db saren (2)
™ $80d0d.

(©) 1H41% HSrgrdo adiokhd DiSdaren LI 0D dusgddon e@odhd O
2,463 $rme Do 500 sEFB saan (3) T H8obod.

(d) D415 HSrerdo aBdiokh DSSaren LI 05 Srwe SugRo 5f sl
EB0E0 @IH8Hond D 2o (4) T HBodod .

What 1s the area of the circle?

S B0 A, J52eu0 H0S?

IL.

The circle 1s inscribed 1n a square
S )80 28 SHTHoS vosgBaod.

The length of the side of the square i1s 8 cm

& SEBPHO 2w sy 8 o.fb.
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(1)

Data Sufficiency
Beeod Hogns

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B85 1 15008 20 $8% a5 |58 158 .8 154, od (RBod LI ed Hhden Ko Bodh

Hadaren SBoaen @dsal@on. @il SBoaR)) Sodrdod), =)
DSSaren (D)5 DHiArpgrard) aBdjodhB dusTen eolHEosr Sor @d b
DT Bomre). & AT Smo (Bod Srdd8 8 Sr(Eren &HAPA0D) (1) Dod (4) 5%
28 @ond aarand JohE Babob.

(a) 1545 HSFrErS0 AT HoH B |HSES0 I SPS D SorgRdhond b aaan (1) ™
HoBodob.

(b) 1H¥31% HIrrso 2@ o (DdSS0 I Sridsh Sosddhond D =aaw (2)
™ H8odob.

() D15 DSrgrso ad ok (HSSaren LI 50D Josgahon @odhs D
2,563 e HTrs00 TEFS aaren (3) T Hdodod.

(d) 15415 HSrrdo aBjodhd (HSSaren LI 0D Srar Hoslo ¥ eddH
SB0I0 ednddond D aaven (@) - HBotod.

What is the three digit number P. where 100 < P< 2107

100 < P< 210 oansy, @ dueth oo3odons F 208 (98)?

flL.

P gives remainder 9 when divided by 10
P 10 JerpHovsan sddx0 9.

P 1s divisible by 11

113 P adxHom plosatheod.
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Data Sufficiency
B&R0E DOUNSG

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1508 20 SB%0 @S (98 1H9) S0 2.8 (DY), od (Bod LI e@d Hiden Jo Bodh

Hdtaren SBoaen @lsaBron. @) SB0FR) GOoErAod), @iy
DSBaen (DE % SSrprad) aBijokhdh dosTren olHarosr So @l
AT Bomre). & AT % (208 Srd88,% dr(dren $H5@BrAod) (1) od (4) S5%
28 wond aarand doDHE Tobod.

(a) 15935 H3r5rdo aB)10HH (HSVI0ISPSH SorgRdbond b aarew (1) ™
H8odSobh.

(b) (593% Hdrprdo ady0%E (HSSS0 I Srdidh Sos2Hhond D zaorn (2)
m H8odob.

(€) (H41% Jdrerdo aBdjokhd Hddoren LI ¥0D Hogddhon e@odhd O
2,563 S HTrsd0 TEFB marew (3) T HBoSob.

(d) 15415 JSrprdo aBdjodhH (HSdaren LI 0D Srmr STgRo 5o @ddd
SB0X0 @558 008 b 2oz (4) T H8obob .

What is the cost of one chair?

25 %) s, 2> 20s?

L

II.

1 Chair and 1 Table cost Rs. 12.000
25 B8 dociv 28 ey wboo 6».12,000.

The cost of Table 1s twice the cost of the Chair
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Data Sufficiency
B500% DoRDS

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given 1 the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPSS 1 15008 20 385 QDS [H8 1515 2.8 (59, o0 (Bod LI e Hhddexn fe> Boch

maaren SdTPozen @dsaBron. @WL)S SBoFR) Goaddriod), @d)yd
DdBTren 1HI % JSrprad) aBdjodHhd dosTen eHedsr So @d ok
AT Bomre). & AT Em% (208 Srda6,E dp(sren &HA3PA0D (1) Dod (4) 8%
28 wond 2arand JoDE Tobob.

(a) 1H¥%0 HSrprdo adjodh B |DSES0 I SPSH HorsRsHond b aaaw (1) T
hBodod.

(b) (243350 DAFEEH0 T EH0 (Do IT S5r|eh SosRond N aaen (2)
™ HBodob.

(c) HI1% Jdrprdo adrjomhd HSdaren LI ¥ Sogddon @odhd D
2.%5.63 Sroe HTrgno TEFS aaan (3) m HBodod.

(d) (H¥3% JHdrprdo aBdrokhs 1HSSaren LI £03 Srmr S gRo ¥ e@ddd
S80f0 @IHEHond M 2=arzn (4)  HBotod .

What 1s selling price of each article?

28 H0Y) AWE, ON5Y) O 2087

1 B

IL.

The trader made a profit of Rs. 100
& aReaNo BR. 100 erZio DanSPar i

Two successive discounts of 10% each were given

289,58 1 0% 5o Both aRvoH0s BJe0t, aFkto 2ofod.
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(i) Data Sufficiency
B50% DoDNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B85 1 1 50 20 5850 a5 (HS (5457 2.8 (54, o0 (Bod LI ed Hhden feo Bodb
Rdt@mren STPoFTen @ssHBon. @WLY0 SB0FTR) Sodlrfod), @d))d
DSSTen (D95 HSrprad) adiohd dvsTen eoHerosr So @d b
DT Bowmre). & AT G (Bod S,rd88,% Sr(@en SHA3@A00) (1) o (4) S5%
28 o1 2arad dohE Tobod.

(a) 1H¥%0 HAPErS0 2B 05 (BSSI50 1 Sr@h Sorsaond D o (1) ™
lodod.

(b) 159350 DSPEES0 2T H0HH (HSDS80 I SPdH ST sdHond D aaran (2)
™ $8o0dodk.

() 1H¥3% JSrprdo adjodhH Diddaren LI ¥ dousddbhon @ochd O
2,463 $rme HTr 500 sETFS aaew (3) T HBododb.

(d) D915 HSrprdo adjodkh HdSaren LI ¥0d Srar HugR0 578 @ddd
SB030 ot HESHond D 2aren (@)  HBodod .

What are the two natural numbers g and b?

@ Both Har Dowen (1 Mook b HO?

I. LCMofaandb=240

a Sociv he S&hh =240

II. HCFofaand bh=20

a Sveocio b e n.aeee =20
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(1) Data Sufficiency
B0% DoWNS

Note: In questions numbered 1 to 20. a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPSS:1 0 20 S8 a5 (H 1545 2.5 (59, o (Bod LI e0d $Hddexn o> Boch
Hddaren &BFozen @dsa@Pon. @d)d SBoFTR) SHdrAod), @tdyd
DSBTren DI % SSrprad)) aBd)oHhB dusTen eHweodr So @d b
AT Bowmre). & AT S (2o Ir0d8,E dr(@ren &HBEAoD) (1) Dod (4) S5%
28 @ond aarand JodE Tobod.

(a) 15¥1%0 Sdrgrdo B0 % DIES0 I SPE R ST sRsHond b aavew (1) ™
Hodtod.

(b) H¥3%0 JHSrprdo adyodkhB (DSS5S0 I SPsdh Sosibond D maw (2)
™ H8odobk.

() 1D%3% HIrprdo adjodhd Hddaren LI £ Josddon @ohd D
2.45.63 S Hor oo TEFS earan (3) T H8odob.

(d) (D915 HSrprdo adioths 1HSdaren LI ¥0D S ST gRo ¥ @ddd)
S8 030 @dndShond D oz (@) HBodbodk .

How many people in the city speak Hindi?
B2 HPEOS® 20SI0D HRew RoH HPERESG?
I. 10% of people in the city can speak two langunages
B2 HrRoSD 10% DHen Both PHL) SREREBOD.

II. 5% of people in the city who can speak two languages can speak

Hindi
52 HYROS Both PR SREREHDR Do 5% 08 eobBREREHOT.
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 Hdrprdo ad 0% 15550 I Sred HorgRdond D z=aven (2)
™ %H8odob.

(€) D935 SSrprdo adjodkhd HdSaren LI $0D Sozddon e@odhd D
2.%7,¢3 S Horsdo TEFS eaven (3) T HBodbod.

(d) 15415 JSrprdo adjockhd Hadaren LI 0D Srar HTsoo oF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

Does the point (x, v) lie in the first quadrant?

(x. 1) 220cof) J0cél cod® dotvowe?

1
IL.

Options:
1.v¥1

<10

x+y <10
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(@)

Data Sufficiency
B&R03 HowS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 1505 20 S85 2D IS (58 155 2.8 (159, o0 (Bod LI e Hen fe> Boch

[Paaren dBoTen @dsaBron. RO SB0FTR) SoddrEiod), a@ad)ys
HdSaen (D15 JHdrprad) adjodhd dusgon ofHwosr So @d b
DT Bore). & AT Em% (808 Ir0&88 Sr(@en SH33PA00 (1) od (4) S55%
a8 wond zarand JodHE Tabod.

(a) 1H¥)% HSrprSo aB)0H 5 (DIBI0 ISrSH Sorsnbond b aaven (1) ™
Hlodobh.

(b) 1H¥1% HSrrdo adyjoE (HSSS0 I Srdh Svsobond D zaem (2)
™ h8odbobk.

() 15435 JHSrgrdo adjokhd Hddaren LI 40D Hogddhon @odkhds D
2.5,63 S Hor g0 sEPS o (3)  Hiodod.

(d) 1DE)5 HSrprdo adyodhHh HDodaren LI ¥Dd Srar HorgRo oob €9¢5055)
ST 030 @dHSHond Db oz @) e H8odkodh .

Is 6 a factor of n+3 ?

173 GBS, 28 Ppasin 6 oHchome?

L

IT.

n 1s even and divisible by 3

11 HODOoY Hocin 3 I edodeod.

1 1s divisible by a prime number

25 EPH 530%3 1 geBodatdod.
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1.v1
e %2
3. %3
4 % 4
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II.

(i) Data Sufficiency
58003 HoDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(by Mark choice (2) if the statement II alone i1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

BPBS 1508 20 $85 25 158 (59165 2.8 (54, o0 (Bod LI ed Hhdden He> Bodh
Hddmren SToTen @dsaTon. @)D SB0TA) Godiriod, @d))d
DSBaren 1HI %5 HSrprad) adjockhd dosTen eHErcdr Sor @d b
AT BoTe). & AT % (208 Sr088% Sr(mren 5380 (1) Dod (4) S8
58 @ond aaorand Jo0DE Tabod.

(a) 15¥2% HSrerdo aB10h 5 (HSS50 1 Srd S saond D o (1) ™
HBodod.

(b) 1H¥1%0 HSrrdo aFjokhE (H5550 I Srsdh Sosbhond D zovan (2)
T HBodbobk.

() 1H¥1% JSrrdo aBdrohd SSdaren LI 0D dogdhon eodhe D
2.55.63 St HUmsR0 TEFS aaren (3) T HBodod.

(d) H¥ 1% HSrordo ook (HdSaren LI X0 Srar Ho g0 5F e@ddH
S8 00 358500 D 2araw (4) 7 HBoBod .

What 1s the height of the tree?
S DY ) oS?

The height of mountain 1s 300mts
8 S350 o 300 doddy

The angles of depression of the top of the tree and the bottom of the
tree are 45° and 60° respectively as seen from the top of the
mountain.

58 55380 Jr08 SrDIH 6 @ BeY BwE, 596 (©50) MO O (800

grmRe O Shmen Stodm 45° Heocin 60°.
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IL.

@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2,563 S Sorsdo TEFB earen (3) T HhBodbod.

(d) D415 JSrgrdo adjockhd Hadaren LI 0D Srar HTsoo ooF eddd
48040 @l3H8Hond D =aren (4) - HBodod.

How many men are required to complete the work in 40 days?

@ HOD 40 Berod® HPB JoHEOE H0S 0D HTEPLD OBHTO OHS?

8 men and 10 women can complete the work 1 20 days.

8 008 Htvapen 10 H0d Rev @ HOD 20 Sared’ HPre Jabred.

12 women can complete the work in 30 days.

12 5008 Dev 8 HOHE 30 Hares? HPe Dobrod.
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(i) Data Sufficiency
BR0¥ DRDS

Note: In questions numbered 1 to 20, a question 1s followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the
question.

(¢c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B3 11505 20 8% 9D % (58 1595 .8 154, o) (Bod LI eod ihdren de> Boch
HSdmren  SBoFen @dsaBon. Ao SB0FTR) SHWPAod), @dyd
IDdBaeen (DA% Jdrprard) aB)otkhd dTiTen edwosr So @l
DT Bomre). & AT EmH (208 Ir048,8 Ar(mren SHEFR0D (1) Hod (4) 5%
28 @O aT2n N doDE Wobhob.

(a) (54250 HArprdo aB)oHH DIVIoISPSH SosRbhond b 2o (1) ™
H8odiob.

(b) (H¥1% JSrErdo ad 0% (DSSS0 I Srdsh Sosadbond D zaew (2)
m HhBodok.

(¢) H¥1% JSrerdo adjochd Hidaren LI 40D dusghdon e@odhs D
2,463 B Hor g0 sETFS aaoen (3) T HhBodobk.

(d) D15 HSrprdo aBdjodhdy HDodSaren LI ¥0d Srae K)U“géo 5% ead5day)
ST 030 @3HEHond Do 2aren (@) m HBobod .

10
What 1s the value of x in the matrix A= |1 2 3
34 =
x 140
ar@s A= |1 23| & 1 Aws,dend wods?
34 %

[. A i1s asingular matrix
A 2% oReRtn H8%
II. A 1s a non-singular matrix

A 2,5 Dogrtn 5185
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(i) Data Sufficiency
0¥ HoDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given 1n the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)y Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B85 : 1008 20 S8% 2D )8 1HB (5515 2.5 (%), o0 (80 LI ed Hdven o> Bodh
[Padaren Sd8o7en @dsa@on. WIS SB0FTR) Godiriol), @)y
IDSBTren D)5 Jdrerard) aBiochd dTsTen ool Sor @ b
DT Vo). & AT S (206 PS5 E,E Sr(@ren SH0rAod) (1) Hod (4) S5
08 wond zarand J0DE Tohodh.

(a) 15%3%0 JSrprdo aB)oH % |DIBSo ISP S Sosdbhond b aavew (1) ™
HBodod.

(b) 15¥3%0 DArEEdo 2@ oHE [DSSSo I Sred HogRSond N =aren (2)
™ HBodobh.

(c) 15935 JSrprso adjodhd (DSSaren LI £ SosdbHon @odhd O
2.4 63 Sroe Horgno TEFS moen (3) T HBododk.

(d) 15935 HSrprdo aBjodhH (DiSaren LI ¥0D Srmr HTslo 5F e@ddD
S8 030 @SHdSond b =aren (@) e HBodobk.

C 1s a point on the line joining B and E. D and A are point above BC such

that [ DCE = % L ACE. Is CD parallel to AB ?

= 3 % :l !
B soocin om 505 8wd C 8 ®ow®| DCE =~ ACE ocyoey D woaw
A e BC 8 orwd 608 @omoPen. ot AB & CD Sseodtom &otwows?

[. ABC 1s a scalene triangle

ABC 28 2.5 daderau 8zv2o

1L BU—=EE
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(@)

Data Sufficiency
B@R0¥ DoRDS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c)  Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1008 20 8% 90315 (58 15357 2.8 154, od (Bod LT eod Hdden He> Boch

waddaren dBoTen @dsa@on. @G ST0FTR) Goddlrfol), @d)d
DSBaren (D)5 JDSrErad) aBjodhd JTsTen oot So @d b
AT Bore). & AT Em (308 Ir0A8% dr(Bren SHFA0D (1) Hod (4) S5%
8 wond 2arand JohE Tohob.

(a) 15%15% Sdrprdo ad))oh % DSBS 0 1 SrS T SusadHond Db aaew (1) ™
HBodods.

(b) 15%3%0 JH8rprdo a3 05 DSSS0 I SR SHorgRSond D maren (2)
™ $8ododk.

() 15435 HSrgrdo adjokh s Hoddaren LI 40D dosddbon @odhds O
2,583 $rme ST sn0 TEFS maren (3)  HBokod.

(d) 15415 HSrgrdo adjoms 1DSdSaren LI 9D Srmr Sugno ¥ eddD
S8 050 @dHESHond D 2aen (4)  HBodod .

What are the co-ordinates of the point Q ?

oy (Q Bws, VoREHZen HH?

I. Q lies on the straight line / whose slope 1s 3

II.

ety 3 e 508 56t8w [ D Q dotnod.

[ makes an mtercept of 4 on y-axis

7 eioD» /eolddpodos
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2,563 S Sorsdo TEFB earen (3) T HhBodbod.

(d) D415 JSrgrdo adjockhd Hadaren LI 0D Srar HTsoo ooF eddd
48040 @l3H8Hond D =aren (4) - HBodod.

What 1s the number of divisors of n?

71 GRS, 2R2550e Dom; 0S?

I. 1=n<10.000
II. n=6000

Options:
1. %1



o V2
3 % 3
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 HSrprdo aBd 0 (H5550 I Srdih Sosdhond D aaren (2)
™ $H8odob.

(c) 1H¥3% JSrprdso adjokhd Hsdaren LI $0D Jusgdbon e@odhd O
2,563 S Sorsdo TEFB earen (3) T HhBodbod.

(d) D415 JSrgrdo adjockhd Hadaren LI 0D Srar HTsoo ooF eddd
48040 @l3H8Hond D =aren (4) - HBodod.

How many positive integers are less than » and relatively prime to n?

1 SoB &5 e Hoocin 1! 8 DY DEed Doy Oy S PegoSen of),?

L
II.

Options:

n=23 5273

71 15 composite

7l Eﬁacﬂn:é_i\’:oqg
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@

Data Sufficiency
B@0% DoADNS

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B35S 1 1505 20 S85 9985 158 (59,5 2.5 54, od (Bod LI eod MHen fo> Bodh

HdSaren dBoTen @dsa@Con. Q)N SBoFR) SHAEAod), @) d
DdSaren (D)% SSrprard) adjohd dusTen eolHerosr So @d
AT Bomre). &% TSm0 (Bod Ir0a885,8 Ar(Eren SHBEHo) (1) dod (4) S5%
28 @oM 2aran ) oDl Wobob.

(a) 15450 HSrgrdo aBjoth s (DSBS0 I Ar@R Sosgnhond b aavew (1) ™
HBodob.

(b) 15¥3%0 Hdrprdo ad 0% 15550 I Sred HorgRdond D z=aven (2)
™ %H8odob.

(€) D935 SSrprdo adjodkhd HdSaren LI $0D Sozddon e@odhd D
2.%7,¢3 S Horsdo TEFS eaven (3) T HBodbod.

(d) 15415 JSrprdo adjockhd Hadaren LI 0D Srar HTsoo oF eddd
S8 040 @5H85ond D =aren (4) T HBodod.

What 1s the first term of the Geometric Progressionty. t2. 3 ..... 9

eds 1. [, 3 ... s, s Hio HOH?

L | 0 Tg =2
II. ts =64
Options:

1. %1

o oo



3.¢3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269483
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6672694799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
(1)  Problem Solving
a’:mﬂa,sr?}a:;zﬁ

(a) Sequence and Series

ofoSHmen, Sravew

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AeSH:  Den 21 Hod 30 HOK T HB HESHR FYH HoWew RO OFTReD RO 25
Eoag o HoHRR), HBRT00. DB LSO 2RED FYH ey DY Hod

00 O ezt u}e&;ﬁiﬁ) oosSan DcHERDE Horio SentiErote aRoowed.

27343, 6859,
(1) 3375
(2) 1331
(3) 2197
(4) 1728
Options:
1. %1
o %o
3¢z
4 # 4

Question Number : 22 Question Id : 6672694800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

7.3.8. 85
(1) 2
(2) 10
(3} 6
4 4
Options:
1. %1
2 ® 2
3. % 3
4 ¥ 4

Question Number : 23 Question Id : 6672694801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

| e o X

(1) E
(2) x
(3) F
(4) H

Options:

1. %1

2 ® 2

3.3

4. # 4

Question Number : 24 Question Id : 6672694802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

Z.W.Q V

(1) H
2 17
3) G
4 I

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 25 Question Id : 6672694803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

170. 1332 50, .10,
(1) 82
(2) i
(3) 120
(4) 126
Options:
1. %1
o ® 2
3 %3
4. 9 4

Question Number : 26 Question Id : 6672694804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

6FL.: 9IR. : ; = SEJ

(1) 3CE
(2) 2BD
(3) 4DF
(4) SHP

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 27 Question Id : 6672694805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

Book: Publisher: : Film :

yo¥o : |Dhdaid = HISE

(1) Director 58 350
(2) Editor HoardBad
(3) Script Writer 152D SSoned
(4) Producer Doy
Options:
1. %1
o %D
3 % 3
4 9 4

Question Number : 28 Question Id : 6672694806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

RAM: UGV : : CAT :

1: FGV
2. FCG
3 FGC
4. GEC

Options:

1. %1

> ® o

3.¢3

4 % 4

Question Number : 29 Question Id : 6672694807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25
Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

Z T
IS T
M E
| 2
2 3
3 4
4, 5
Options:
1. %1
2 ® 2
2. ¥ 3
4 % 4

Question Number : 30 Question Id : 6672694808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
Do RSO

(a) Sequence and Series

ofosHmen, Saven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

AESH:  Dden 21 Hod 30 HOW e HB PSR FYH Do RO OFTReD TR 25

Eoag R HoDHRR), Sdime,on. H8 HESD 1RED FYH ey Do Hod

00 @D ezt ﬂﬁkﬁaﬁ) OosSa0 DcHEROE Horio SentiErote aRoowed.

33 L |1 Behesl b 8
B 72
2y 24
(3) 9
(4) 18

Options:

1. %1

2 ® 2

3.¢¥3

4 % 4

Sub-Section Number: 3
Sub-Section |d: 667269484
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6672694809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1) Chord

E%

(2) Radius
a@bgm

(3) Circumference

20D

(4) Diagonal

HE0ED
-1

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 32 Question Id : 6672694810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Note: In questions numbered 31 to 35 pick the odd thing out:

BERE: 31 ®od 35 H6H fo PEeS® HOFIODD HYOoTHD.

(1) Crow 58
(2) Parrot De¥
(3) Eagle fa{=)
(4) Duck 23°ed)
Options:
1. %1

o B oo



3 ¥ 3
4. v 4

Question Number : 33 Question Id : 6672694811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE0DE: 31 od 35 H6D o DEeS? HoTIDD HROHEW.

(1) 2Z+y—2xy
(2) x+y+2dxy
(B a2

(4)  4x? -403xy + 37

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 34 Question Id : 6672694812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BE0DE: 31 od 35 H6D o DEeS? HoTIDD HROHEW.

(1) 62
(2) 59
(3) 67
(4) 73
Options:
1.v1
2 ® 2
3. ¥ 3

4. # 4



Question Number : 35 Question Id : 6672694813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

rERS: 31 Wob 35 H6D rTo PEeS® HOJIODD HYOowE.

(1) Hyderabad Soerd

(2) Mumbai Snoz3

(3) Bhuvaneshwar AN RS

(4) Indore 20856

Options:

1. % 1

o ® D

3 %z

4. 9 4
Sub-Section Number: 4
Sub-Section Id: 667269485
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6672694814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

9. .126.48.1332.168

(1) 8
{a) 10
(3) 0
(4) 12

Options:

1.¥1

o %o

3. % 3

4 % 4

Question Number : 37 Question Id : 6672694815 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

DOG. HDN. PHB.

(1) ABW
(2) BAW
(3) BAV
(4) BAX

Options:

1. %1

2 WD

3 ® 3

4 % 4

Question Number : 38 Question Id : 6672694816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

7y & 3 L
(1) K
2) M
3) 1
(4) N
Options:
1. %1
o ® 2
3 %3
4. 9 4

Question Number : 39 Question Id : 6672694817 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

fd00Y DOchHrd DirEraeS? grdoi HPRooos.

1, 4,8, 11,22,
(1) .25
(2) 33
(3) 26

4) 44



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 40 Question Id : 6672694818 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

rs00Y dochrd Hirprare S grdoi HRooos.

A2A DIE. Gle6l

(1) E 321
(2) J320
(3) 1. 23¢)
(4) 1250

Options:

1.9 1

o ® D

3 ® 3

4 % 4

Question Number : 41 Question Id : 6672694819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

EDU. IGS. . QMO
(1) MIQ
(2) TUPN
(3) MIP
(4) LIQ
Options:
1.v1
2 ® 2
3 ¥ 3
4 % 4

Question Number : 42 Question Id : 6672694820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

BAT. EVA, ; QFU,

(1) HMI YTI
(2) JOIJ. ZUH
(3) KOK.HUX
(4) IMH.TYI

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 43 Question Id : 6672694821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

6.3.1.025
(1) 0.0083
2} 0.05
(3) 0.5
(4) 0.005

Options:

1. %1

2. 2

3 %3

4 % 4

Question Number : 44 Question Id : 6672694822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

X YL X+ XY, XYL P2 G-,

{ }
(1) 3X.3Y
2) 3X+Y),3(X-Y)
(3) 4X. 4Y

4) HX+Y)HX-Y)

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 45 Question Id : 6672694823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

2+ 6. 4+.20. 6+ 42,

¢1) 8+Jﬁ
2) 12+ m
3) 8+7
(4) 8+347
Options:
1.v1
o ® D
3 %3
4 % 4

Sub-Section Number: 5
Sub-Section I d: 667269486
Question Shuffling Allowed : Yes

Question Id : 6672694824 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)



(b) Data Analysis
Seros oFan

Study the following Bar diagram carefully and answer questions 46 to 48.

52 DS FQYH 226 HBVE BT OGEDBO D, 46 Wb 48 HEW Ko HLED 2o

{508,

a0

70

&0

50

40

30

20

10 I
0

2000 2001 2003 2005

Production of Food Grains
(in Thousands of Tonnes)

GV S3.B (Fo HH,S)

Years / dodes shwen (in Thousands of Tonnes)

Sub questions

Question Number : 46 Question Id : 6672694825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The average food production (in Tonnes) from 2001 to 2005 is

2001 %o 2005 S5 ST PR VO S&,8 (L60,059)

(1) 50,000
(2) 40,000
(3) 45,000
(4) 55,000
Options:
1.v1

o ® oo



3 ¥ 3
4 % 4

Question Number : 47 Question Id : 6672694826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ratio between the mcrease m production between 2000 and 2003 and

2000 and 2005 1s:

2000 Hoci» 2003 Hog, DO 2000 SO 2005 Hgk 00 &S HSD

DGO Hogs DS

(1) 3:2
(2) 4:3
(3) 5:3
(4) iy 4

Options:

1. %1

> R oo

3 %3

4 ¥ 4

Question Number : 48 Question Id : 6672694827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The approximate percentage increase in production of food grains from

2001 to 2003 1s.

2001 %o 2003 8 8556 AR 66,8 & DELE BSO (WHRCOMR).

(1) 15.66%
(2) 15.03%
(3) 16.66%
4) 16.075%

Options:
1. %1
o R
3. v 3



Sub-Section Number: 6
Sub-Section Id: 667269487
Question Shuffling Allowed : Yes

Question Id : 6672694828 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
Question Numbers: (49 to 53)

Note : The marks obtamned by a student in the examination in (A) Mathematics
(B) English (C) Telugu. (D) Social Science (E) Science are depicted in the
following Pie Diagram. Based on this data answer the questions 49 to 53.

2% Do sd 2.8 H8ES' (A) KBS0 (B) sofio  (C) Bexnid (D) ASrRE &0 (E)
DTST 00 © & IS Srdye & (808 "D " &0 S Fod 8 T ow.
& S804 0 @0 24) e 49 0od 53 Sd% do [04) od asren oroho S

Sub questions

Question Number : 49 Question Id : 6672694829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If the student secured 150 marks in A. how many total marks did he secure

in the complete examination?
2.8 D g8 A 150 Srdogen 37 Bndo HBES @SB IS Srd) e B o?

(1) 360
(2) 450
(3) 600
(4) 1000

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 50 Question Id : 6672694830 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The ratio of the marks obtained by the student in Mathematics and Telugu.

D508 KeBSo HBotn Benid S S8 Sy e DK e

£y 1129
(2) 15:13
3) 1313
(4) 19:14

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2.2

3.3

4. 4

Question Number : 51 Question Id : 6672694831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



If a student has scored 150 marks in Mathematics. how many marks did he

score in social science?

D508 KeBbo & 150 Srpdojen 5D eSE ardrzl R0 S S0 S Sy en
PATA R

(1) 100
(2) 105
(3) 110
4) 120

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3 3

4. 4

Question Number : 52 Question Id : 6672694832 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the percentage of the total marks scored by the student in C.D and

E put together?

Ders88 C.D . E o 92 30335 Srdpe 3650 dod?

(1) 52
(2) 582
(3) 60<
(4) 61%

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

z 3

4. 4



Question Number : 53 Question Id : 6672694833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If a student got 150 marks in A. how many marks did he get in D & E put

together?

2.8 Drs08 A S 150 Srdozen 5 Bndo @ddd D. E e 55 S8 33 Serdozen

) ?

(1) 240l
3

) 2412

(3) 245

: =

(4) 245

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2.2

3.3

4. 4

Sub-Section Number: 7
Sub-Section 1d: 667269488
Question Shuffling Allowed : Yes

Question Id : 6672694834 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)



Note: The following passage to be analyzed for answering the questions
(Q. No. 54 to 55)
In a class of 60 students. 23 play Hockey. 15 play Basketball and 20 plays
Cricket. 7 play Hockey and Basketball. 5 play Cricket and Basket Ball. 4
play Hockey and Cricket. and 15 students do not play any of these games.
Using this data. answer the questions 54 and 535.
60 00D DR o STHBE 23 oo 53, 15 H0B RS 2o oK 20 Hood 83
&5 steetn. 7 W 558 HOcin RS 26, 5 v 8365 HOcin 2R, 26, 4 v H58
oocin §36 s, 15 Hod 83 St ebed® HH S, Bt DEPwRco RS0 54,55
DO 2azen Tochob.

Sub questions

Question Number : 54 Question Id : 6672694835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

The number of students who play Hockey. Basketball and Cricket 1s.

98, 25 e oo 8365 o8 DR Doy

(1) 3
(2) 8
(3) 11
4) ©

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 55 Question Id : 6672694836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The number of students who play Cricket and Hockey but not Basketball 1s

8365 Sooin 58 ethein, RS oS S0 DR Homy

(1) 4
(2) 2
(3) 3
(4 1

Options:

1. %1

o ® 2

3 %3

4. 9 4

Sub-Section Number: 8
Sub-Section I d: 667269489
Question Shuffling Allowed : Yes

Question Id : 6672694837 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



(c) Coding and Decoding Problems
£80f A58 0R Hddgen

Note: The letters A, B, C. _.___Z of the English Alphabet are numbered 1. 2 ...,
26 respectively. A Code 1s designed by the following rle:

Rule: The i th the letter 1s coded as the jth letter where j = 3i+ 2 (mod 26). The

reverse process 15 followed for decoding.

Example: The 92 letter I is coded as C because, 3 X 9 + 2 (mod 26) 1s 29 (mod
26) which 1s 3 and the letter C 1s numbered as 3. Based on this coding

procedure answer the questions 36 to 60.

i ACam K
sof egdamedfagreen A B.C. ... Z ebaddm 1,23, .
26 eore eh. 89 &5 5355 53 200 Hoban0 88 drareofowed.

pobao: § =37 +2 (mod 26) savha 15 g0, | & egdorm 86 Sed.
& F80F % 42 8'% 568D a3 SriTrd
swarcn: 95 0g00 L o Coe 86 Jxd. sotugod] 3 X 9 + 2 (med 26)

=29 (mod 26) =3 deodnC 23 m mgowmo.

&1 53500 HPAD D00 56 ol 60 S0 o 4 e TaDos.
Sub questions

Question Number : 56 Question Id : 6672694838 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Thecodefor COMPUTER 1s?

COMPUTER &8&

(1) KUOXMJIQD
(2) KUPYNLRE

(3) KVPXMQID
(4) KVOXNIQD

Options:
1.9 1

o oo



3 ¥ 3
4 % 4

Question Number : 57 Question Id : 6672694839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the code for STATE?

STATE & 8¢ oa?

(1) GSESP
(2) GIEIQ
(3) GIFJP
(4)  GQEQR

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 58 Question Id : 6672694840 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which wordiscodedas FULL Y ?
a0 FULLY me S8 JabhaBod?

(1) SILLY
&y IBTLY
(3} JOQLLY
(4) SORRY

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 59 Question Id : 6672694841 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The number of letters of the alphabet that remain unchanged in this coding

1S

&2 53800® HR6),[oBR V5 Ho);

(1) 4
2 1
(3) 3
3 2

Options:

1. %1

2 ® 2

3 ¥ 3

4 ¥ 4

Question Number : 60 Question Id : 6672694842 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What 1s the code for MAN A GE R?

MANAGERS&SEa0?

() OEREWQD
(2) OFSFWPD
(3) OGRGVQE
(4) OHQHURD

Options:
1.91

o oo
o ® 3
4 % 4

Sub-Section Number: 9
Sub-Section 1d: 667269490
Question Shuffling Allowed : Yes

Question Id : 6672694843 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (61 to 65)

Note: A word or a group of letters to be coded or decoded based on the

certamn codes. Using the nformation. answer the questions 61 to 63.

risoos: 205 Hoderey earrdore €5 Bor AYS Sabaf o8 Do For & orey DT,
& ndrcrod, Gudirfod) 61 Sod 65 (105 AT TE0 Fasol

Sub questions

Question Number : 61 Question Id : 6672694844 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “CHENNAI" is coded as “XSVMMZR"” than “MUMBATI" is coded as:

CHENNAI » XSVMMZR m 858 I3, @t MUMBAI ® a¢5 S5&

BSOS,

(1) NONAYR
(2) LFLYZR

(3) OFOXZR
(4) NFNYZR

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 62 Question Id : 6672694845 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “PUNE’ 1s coded as “QXSL". then the code for “CUTE" 1s

PUNE & QXSL mSEDD, oath CUTE 88§

(Ly EXZL
(2) DXYL
(3) CXYL
(4) FXAL

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 63 Question Id : 6672694846 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “MAHATMA" 1s coded as “PDKAQJX" then “KRISHNA™ 1s coded as

"‘MAHATMA®™ ®» ‘PDKAQJIX m, 85530, sy KRISHNA™ & dpom 586
DOVBEEDO8.

(1) NULSKEX
(2) NULSXEX
(3) NULSEXM
(4) NULSEKX

Options:
1. %1
o %o
3 %3
4 v 4

Question Number : 64 Question Id : 6672694847 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If = RING™ 1s coded as “SIMF" then which of the following 1s coded as
“GSNE™?

RING & SJIMF e 858 33, odts &8 800 302 580 ‘GSNF ' m 588 Johadod?

(1) FIGO
(2) FRUG
(3) FROG
(4) FORK
Options:
1. %1

> w2



3. ¥ 3
4 % 4

Question Number : 65 Question Id : 6672694848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If “2018" 1s coded as “7981” then 1947 1s the code for

‘2018 ® 7981 m 538 I, 0yt 1947, HDS 558 oHbod.

(1) 3153
(2) 8052
(3) 8025
(4) 8513

Options:
1. %1
2 D
3 %3
4 % 4

Sub-Section Number: 10
Sub-Section Id: 667269491
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6672694849 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If today 1s Friday. then the day after 185 days will be

&3 B2 HBas0, vowd, 185 Here Stuaed ociybier.

(1) Sunday

Shaeio

2) Wednesday

20GHER00

(3) Tuesday
MO TS0
(4) Monday
a9abaRto
Options:
1. %1
2 ® 2

3 % 3
4 ¥ 4

Question Number : 67 Question Id : 6672694850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

At what time between 7°0 clock and 870 clock will the two hands in the

clock be at right angles to each other?

7 Hoain 8 tobe g H HFcho HP BEERGOSD Both Hveyen 258 RS

06958 w02 B9po JawSlotran?

5

7. 45—

(1) - 0

5

2 7 8§

(2] i h.Sll

7 485

(3) 4811

" 5

) 7467
Options:
1. %1
2 2
3 ¥ 3
4 % 4

Question Number : 68 Question Id : 6672694851 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(d) Date, Time & Arrangement Problems
88, Hnoho, endier DD gen

If a clock takes 20 seconds to strike 11. how many seconds will it take to

strike 57

2% BBciRGo 11 SRS 20 V5o 8:08%08, 5 SR8 DIod 0D 8:0Soknod?

(1) 8
2) 5
(3) 6

(4) 10



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 69 Question Id : 6672694852 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(d) Date, Time & Arrangement Problems
88, HHaoho, e@ndier DHHgen

P says “my father 1s the only son of Q’s mother and A. Q are sisters”. If R

1s grandfather of A: B 1s Q’s son then how 1s P related to B?

P 2t ootet “m $of Q Bws, $93 28 2.8 Hrxirtoth soain A.Q e» Acdivaen”.

A g, sesmo R.Q cws, Hisrntd B oand, ot B8 P 5H06ab 2060%)?

(1) Brother 2%cvt
(2) Cousin %285

(3) Father o

(4) Uncle S

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 70 Question Id : 6672694853 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems

88, HHoho, edie DdDsen
Ram left office for the bus stop 15 minutes early. It takes 25 munutes for
him to reach bus stop. Due to traffic he reached 10 minutes late and missed

the bus. How much time did he take to come to bus stop?

&) SH B0od 2HRDHS 15 PR HOLMTR VOB oD, OSH HRD
TSRS 15 DRvEp HH08. G o000 Ot 10 DEDERED SOROMR W8I

DO DO 05,58 iR, 20RD 8 HHENS OS Kod Do B:05%, (507

(1) 30 nunutes

30 D&oapew
(2) 25 minutes
25 DEvapen
(3) 50 minutes
50 O&apen
(4) 40 minutes
40 DRapen

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 71 Question Id : 6672694854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A train leaves Hyderabad at 6:10 a.m. and reaches Warangal at 9:25 a.m.
The average speed of the tram i1s 44 Kmph. Then the distance from

Hyderabad to Warangal in km 1s:

25 Dew FRETRRHD . 0:10 8 560, 5vordH . 9:25 & JnSotwod.

@ Bew Do Jo Kok 44 8.5, ©ond , edTRRn rod H5orSH rie Brso. (8.80.)

(1) 130
(2) 135
(3) 143
(4) 140

Options:

1. % 1

o %D

3. v 3

4 % 4

Question Number : 72 Question Id : 6672694855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

A. F are in different rows and columns. B 1s opposite to F and H 1s
opposite to D. who is i the same row as that of A. E and G are neighbors
of F. If the person sitting in the rows faces each other and C is immediate

right to D. then who is diagonally nearest to D?

A, F en 30th 3 dend), & S&hdos' smm. FEomom B smmi

Bocin D 8 omoome H éarih, A 6050008 D srwe dmih. E dvoain G e

F 8 oo Jetom aet. Both Stoded® 5ri, Hen ot ot 5»620 ¢od, D §

BtoBobd ©8 3 8 C &olf, oo D 8 ©8 5os® D5go Bowd 66,0 HHt?

(1) H
2y F
(3) G
4 B

Options:

1. %1

2 ® D

3.9 3

4 % 4

Question Number : 73 Question Id : 6672694856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If +means = . -meansX.=means + and X means —
Then the valueof 16 +4 +5—-3x 115

+ @0l +. —®od X. + ®od t. Hocin X ©oli— vond, O
16 +4+5—-3x1Densd

(1) 20
2) 18
3) 14
4) 02

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 74 Question Id : 6672694857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

§ &)
FE b.'—- 1:|:2 ] 1:|;:]
g*b:L.g} [}_b}ﬂjw:
Iﬂb 1:1:3_
111
1y e
5y 12t
(2) 100
123
3 —
(3) 150
123
(4) e
Options:
1. %1
2 ® 2
3 ¥ 3
4 v 4

Question Number : 75 Question Id : 6672694858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If the symbols *. #. (@. £ represent addition. subtraction. multiplication and
division respectively then:

Hexn * # (@, £ 3% dofoard), SgSfomed). Hesod), FESFo)
PUARST

(15*x) @(12#8)£(1542)
(A5#3)@(12*8)£(5%5)

(1) 4
(2) 3
3) 1
4) 0

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3.3

4. 4

Mathermatical Ability

Section Id : 66726971
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 75
Number of Questionsto be attempted: 75
Section Marks: 75
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 667269492
Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 6672694859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 5Hd 0 s

o

(4) (x—y)"

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 77 Question Id : 6672694860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

F =5 =T =e(2a1h)=
(1) a-+b
(2) ab
(3) a—>b
4) (ab)™
Options:
1. % 1
o D
3 %z
4 % 4

Question Number : 78 Question Id : 6672694861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability
©08 1Ed b s
b
abibe éa=3:12 :‘pi:— =
bc ca
¢l 1:4
(2) 4:1
(3) 4:3
(4) el |
Options:
1. % 1
2 2

3 % 3
4 # 4

Question Number : 79 Question Id : 6672694862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

aob=3:5: gh=2535 =mag+bh =

(1) 104
(2) 108
(3) 112
(4) 116

Options:

1.¥1

o ® 2

3 %3

4 % 4

Question Number : 80 Question Id : 6672694863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1) Arithmetical Ability

©08 1Ed b s

v=5+35+325 =¥ -15x2 +60x+10=

(1) 40
(2) 70
(3) 90
4) 100

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 81 Question Id : 6672694864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 5Hd 0 s

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 82 Question Id : 6672694865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability
©08 5Hd 0 s

What 1s the Ieast value of x such that 43x4567 1s divisible by 117

43x4567 w0 11 aZHom pdomeod Y S0H0S 206?

(1) 4
(2) 6
(3) i)
(4) 8

Options:

1. %1

2 ® 2

3 %3

4 ¥ 4



Question Number : 83 Question Id : 6672694866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©05 (e D0 seb

The number of positive integers between 1 and 2087 that are divisible by
31 is:
1. 2087 oo 31 3 2rHodad gares HPgRosee Hom;

(1) 53

(2) 59

(3) 67

(4) 73

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 84 Question Id : 6672694867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©05 568 0l seéb

What 1s the largest four digit number that leaves a remainder 4 when it is

divided by 36. 48 and 64?

36. 48. 64088 pBowbHh Q0 4 M HoTE 107 ey ©o3e Doy HA?

(1) 9697
(2) 9782
(3) 9796

(4) 9802



Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 85 Question Id : 6672694868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

What 1s the minimum number of square tiles required to pave a floor of

dimensions 24.78 meters x 22.26 meters?

24.78 fobogy x 22.26 Sty Boden ro Fod H0-Tom RHODS SE0) Do

ﬁmg VO DOS?

(1) 3027
(2) 3127
(3) 3242
(4) 3247

Options:

1. %1

2. 2

3 ¥ 3

4 % 4

Question Number : 86 Question Id : 6672694869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

3.61 361

0.361 X
(1) 36.1
(2) 3.61
(3) 0.361
(4) 0.0361

Options:

1.v1

2 ® 2

3. % 3

4 # 4

Question Number : 87 Question Id : 6672694870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1)  Arnthmetical Ability

©05 R a8 seéb
If the recurring decimal number 1.27 is equal to the rational number 2
q

then p—g=

OO GEeod Do 127 % DHERHRH ©ECBOD Do % ©od p—q=

(1) 3
(2) 8
(3) 27
(4) 83

Options:

1.v1

2 ® 2

T %3



4 # 4

Question Number : 88 Question Id : 6672694871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

The difference between the largest and the smallest of the following

rational numbers 1is:

&2 800 ©56RCD DoV 1105, 50T Vo g Fso.

3 o Z % 6
_J' _J' _3! EJ‘ _J' E
; 11
(1) Te
13
(2) T
_ 11
(3) =
7
4) =
Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 89 Question Id : 6672694872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What is the least fraction to be added to the sum of the following

fractions to make it an integer?

83 800 ,p F0eRl), 28 HPPOoS0 Jaireod] HBSE SoDBORD EOHD,0:

11 7 1 1
o By B Fe=e T
12 36 12 4

[

(4)

Ol SOl ol O]

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 90 Question Id : 6672694873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If the length of a rectangle is increased by 15% and the breadth decreased

by 10% then the percentage change in its area i1s: Jd%03 S50

25 BYSE0H0 Dt 15% Dow Bengo 10% &8 ood Seeexos® 53
AP0, TS0,

(1) 7% increase
7% B0y

(2) 7% decrease
7% Sy
;

(3) 35% decrease

3%% S%02.%

o -
(4) 35% 1mncrease
lu,
3;/’(} o'lé\.‘;zruﬁ
Options:
1. %1
o %2
z %z
4 ¥ 4

Question Number : 91 Question Id : 6672694874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A spends 70% of his income and saves the rest. If his income increases
by 15% and expenses increase by 20% the percentage change in his

saving will be:

A S5 mads® 70% w6yl Qrised aemow) dartk. 080 mad 15% dod pmen

20% 2oH3 080 demwd® 54 armdo.
1) 30% increase
30% 8RS
; T .
2) ?% 1mcrease
10
PR | P4
% 0%y
3 o :
et | ol
3) i decrease
3 i
% S5
L s
: il | !
4) e decrease
1
E SERD
Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 92 Question Id : 6672694875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A person buys an article for Rs. 18000 and after one year sells it for less

than 25% of 1ts cost price. What 1s the sale price (in Rs.) ?

2586 58 2% HH G 18000 L BIP HoBHESBo SveS 8o, T 25% S5

ORRD. R, ORD 5O (G ©5%) Hos?

(1) 15.000
(2) 13.500
(3) 12.500
(4) 12.000

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 93 Question Id : 6672694876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A buys a piece of land for Rs. 75 lakhs and sells it to B at a profit of 10%.
B 1 turn sells it to C at a profit of 20%. The amount of money paid by C

(in Rs. lakhs) 1s:

A %% YoeR), G 75 0gpH 590 10%. erziod B % odpid. Bwe, 20% ownrol

C® odipth. C 3Podd dwdo (05 Grivdd):

(1) 97
(2) 08
3) 99
(4) 101

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 94 Question Id : 6672694877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A and B started a business with capitals of Rs. 12 lakhs and Rs. 24 lakhs
respectively. A receives a monthly salary for running the business. At
the end of the vear they receive Rs. 1.80.000 each. What was the monthly

salary of 4 (in Rs.)?

A. B en S50 6u1 2 ©5en, Gen24 050 SuRregoS? 28 aneRto G020,
TR0 DGR DME0 A J0o Edo BinSlotrth. Hodd modod agos 3o

6211,80.000 HERH0M 53 A 050 E80 (G 08°) Hos?

(1) 6.000
(2) 7.500
(3) 9.000
(4) 10.500

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 95 Question Id : 6672694878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A and B enter mto a partnership business with capitals in the ratio 4:5
respectively. At the end of 4 months 4 withdraws and B continued. At the
end of the business they share profits in the ratio 1:5. The number of

months B's Capital was used 1s:

A. B en 28 Hinh angahoef), S0Hm 4:5 D&,Ee SRregHos? Zeoopomet. g
BeRodo?® 4 oREe0f,00 3O B Sibapdiometh. arahueod5eeod? aptd

eReRem 1:5 DABS° HowSos B dureraei), HRERH0DH 00 Jveds :

(1) 3

(2) 12
(3) 16
(4) 20

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 96 Question Id : 6672694879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

2 pipes can fill a tank in 30 minutes and 36 minutes respectively. A third

pipe empties the tank at the rate of 11 liters per minute. If all the three
, ; ; 5.
pipes are opened simultaneously it take 22; minutes for the tank to be

full. The capacity of the tank in litres 1s: S )

2 pen 25 SO HEHMP 30 D, 36 D 05 VoDIOF). SureSd Dy SO
DBPO3 11 Hog Jo8? grEJabrieth. 83 Hur dier 2500 30D S8

1
DoToHH 22551.. Dtood. G Hosrno LGS :

(1) 1060
(2) 960
(3) 760
(4) 660

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 97 Question Id : 6672694880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two pipes 4 and B can fill a tank in 2 hours and 3 hours respectively. If
both the pipes are opened together the time required in munutes to fill the

tank 1s:

A. B 2ipen 25 SO 2 tiou, 3rion 0° Dodrew). Sododd 2500 30D Y
DoBoms HE Dvcho DEnapess,

(1) 7 5
(2) 85
(3) 105
(4) 108

Options:

1.v1

2 ® 2

3 ¥ 3

4 % 4

Question Number : 98 Question Id : 6672694881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A man 1s walking at a speed of 10 kmph. After every kilometer he takes

rest for 5 minutes. How much time he takes i muinutes to cover a distance

of 7 kms?

28 8 ro&% 10 8.5. oS Hibar. D8 85Dt Stsss OSHy 5 DIwapen HFeod
&0%08 7 5.80. HE-Joth DHE DEco DEvaPOS® wos?

(1) 68
(2 70
(3) 72
(4) 76

Options:

1. %1

2 ® D

3.9 3

4 % 4

Question Number : 99 Question Id : 6672694882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the tume taken in hours by a cart to cover a distance of 0.9 km

at 0.25 (meters per second) ?

0.9 8.80. BroRR), DEHH 0.25 HHtHgS? Hohdod pod B08IT HBcko Foted? nos?

(1) 1
(2) 1.2
(3) 1.4
(4) 1

h

Options:
1.91

o oo
3 ® 3
4 % 4

Question Number : 100 Question Id : 6672694883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

R and S can finish a job 1n 10 days, S and M can finish it in 12 days and
M and R can finish it in 15 days. In how many days will R, S and M

together finish the job?

25500 R. Sew 10 B%edlitm, 5. Men 12 B32edéir M. Rev 15 Barodttr

FPe Dobrewd. R. 5. M en Snorfir Sod oTH080 08,500 pg Jabie.

(1) 8
(2) 7
(3) 6=
(4) 6

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 101 Question Id : 6672694884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

P can do a work m 12 days and O can do the same work 1 16 days. Both
start the work together and QO left after 4 days. How many more days are

required by P to finish the work?

P25 500 |2 Sered® dobioth. O od 500 16 Bzred? oo, ago 500

DD AwserDEH ey ere St O HOERITE. HOD HPY Woomwd P B Rose

of), Bdzren HSooD?

(1) 4

~—
[
s
LA

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 102 Question Id ;: 6672694885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length of a plot is 5 times 1s its breadth. A playvground measuring
500 sq.m in occupied by one fourth of the total area of the plot. The

length of the plot in meters is:

285 pén o5 T SBen 508 5 BeY . G RSO 4 B Hosbe 500 3.8, Jreexo
to SmRPe0 Hod. © ko ot Sneod? :

(1) 30
(2) 100
(3) 120
(4) 125

Options:

1. %1

2 2

3. % 3
4 % 4

Question Number : 103 Question 1d : 6672694886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability
©05 568 0l seéb

Area of the given figure.

QS 0B He T go
/ 3m
6m
(1) 18+(1+nx) 6m 6m
(2) 18+(2+7) 6m

3) 18+(1+27)
4)  36(1+m7)

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

22

3 3

4. 4

Question Number : 104 Question Id : 6672694887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What 1s the volume of a cube (1n cu.cms) whose total surface area in

726 sq cms?

QOYPE SDOS )0 726 @.20.80.Mm e Fobio b HoBRE0

(30.20.80.069 ) 20s?
(1) 1231
(2) 1321
(3) 1331
(4) 1728

Options:

1. % 1

2 %2

3. ¥z

4. # 4

Question Number : 105 Question Id : 6672694888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length. breadth and the height of a cuboid are in the ratio 6:5:4 and
its total surface area i1s 33.300 sq.m. What 1s the length of the cuboid (in

meters)?

25 HF oo 5D, ey, odew 6:5:4 DYBS? HotR D LOJE S JBeex0
33,300 <5.50u T® 0O, 520 D) (Hon 0°) vos?

(1) 60
(2) 75
3) 85
(4) 90

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 106 Question Id : 6672694889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If the length and breadth of a rectangular plot area 120m and 76m

respectively, then the cost of fencing it at Rs.8 per metre (in Rs) is:

&Y, SEHCFTCoSKD, 25 TR ), D e S 120 &, 76 & vand, HerD

B2, § 5ot 503 Sctnrth ©63y; DB (Grmedd).

(1) 3136
(2) 3130
(3) 3124
(4) 3118

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 107 Question Id ;: 6672694890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The area (in sq.cm) of a regular hexagon of side 4cm 1s:

4 20.80. 20220 TR B0 &5 SRR s, eeex0 (E.0.5.06%)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 108 Question Id : 6672694891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two equal cubes of side of length 18 cm are joined together to form a

cuboid. Then the total surface area of this cuboid (in sq.cm) 1s:

Zhzee ae8d) 1 8 Do.fo.me re Both DERH Fomeei 225088 H0658 2EH0Y 28

&:ggnmmﬁ DOBVO. O S E)g;;mﬁo DOHPY SHOSO JTRe) 0 (3.20.80.0659)

(1) 2430
(2) 3240
(3) 4860
(4) 7290

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 109 Question Id : 6672694892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 s 0 d 58

{:r: |8—4x‘| > 12} =

M (= -D)uls =)
2) (~o0, —1)U(5, »)
(3) (-1 5)
4) (L 5)

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 110 Question Id : 6672694893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability
©08 s 0 d 58

If S5x+7=12 (mc-d 18). then the smallest integral value of such an x is:

Sx+7=12(mod 18) ocistys, 505 eopmRos0 X.

1) 19
2) 17
3) 13
4) 15

Options:
1.91

o oo
o ® 3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269493
Question Shuffling Allowed : Yes

Question Number : 111 Question Id : 6672694894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If p. g are any two statements, the negation of the statement

(~pva)r(pv~a))v(pAag) is:

930 Both gSSmen p. ¢ 0% ((~ pvg) A(pv ~q)) v (p A q) Bos, #8685
D560,

(1) (eva)a((~pr)v(~q)
(2) (pAq)v
(3) (prg)n

(4) (pva)a

Options:
1. % 1
o %D
3 %3
4 v 4

~p)A(~q)

~p)v(~q)

| —

P e R . R e
TET UL "R e R ST

~p)A(~q)

Question Number : 112 Question Id ;: 6672694895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

For any two statements p, ¢ a tautology among the following is:

HI0 Bothd ST P, ¢ 0 0B B 25 VD0,

(1) pv(~(rnra))
(2) (pvq) =p
(3) ~(png) =>p

(4) ~(pnq) = ~p

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 113 Question Id ;: 6672694896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Let 4. B be subsets of a set X and let n(4) denote the number of elements

inA4. If n(4)=15.n(40B)=4. n(AUB) =21 then n(B—4) =

25 208 1D 4. Ben &dd80den, 4 0 sumpese Howd /1(4 ) ardnostosiod.

n(Ad) = 15. m(ANB) =4. n(AUB) = 21 ®ond, n(B—A4)=

(1) 4
(2) 6
(3) 10
(4) 14
Options:

1. %1

e e

3 % 3
4 % 4

Question Number : 114 Question Id : 6672694897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If a set X has four elements. then the number of relations on X that are

SYmMmetric 1s; &
25 D208 V' mpenih Sapesewod, D e FgS dowowee How

(]) ~16 _ »6
2) 210

(3) 28

(4} zlﬁ_zlﬂ

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 115 Question Id : 6672694898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Eet R {(nr, n) eNZ:m+n is evﬂi}. Then the relation R on N1is :

R={(m n)eN>:m+n 20 Doy | Osod. o [N D Howogo R ©I0.

(1) Reflexive only
DORDHBHO HRgab
(2) Reflexive and symmetric but not transitive

DODTHO, F,RYDO oD HOSHLO T

(3) An equivalence relation
28 %WMG
(4) Symmetric only
PHDHo HRgd
Options:
1. %1
2 %2
3.v 3
4 % 4

Question Number : 116 Question Id : 6672694899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

A line / which makes equal intercepts with the coordinate axes. passes

through the point (3. —4). Then 1t also passes through the point:

DEPHTZOD HHPH OOST WOTRO J6HD 28 S om®) (3, — 4) o J6bod.

O S B B3 22000) MOCTR SRTR 5000,

(1) (3.—6)
(2) (6. 7)
(3) (—3. 4)
(4) —2. 3)

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 117 Question Id : 6672694900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If A(2.—3), B(3.4) and C(—1. 5) are vertices of a triangle, then the length

of median through A 1s:

A(2.-3). B(3.4) and C(—1. 5) en 2% gzbzo S pond A toowe Bad

Bocgsrieso BED.

15
1 i
(1) =
229
4 iasuial
2) :
219
3 S
(3) A
13
4 Ly
4) -
Options:
1. %1
o W2
3 ® 3
4 # 4

Question Number : 118 Question 1d : 6672694901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o ook =RBD Doy

If sin@ = % and @ is not in the first quadrant. then secf+ tanf =

Sin @ =3 opse, § 3wo8 oo S0 secd+tand =

R 3
(1) =%
12
2) =
(3) =
13
(4) P
Options:
1.¥1
2 %
3 %3
4 % 4

Question Number : 119 Question 1d : 6672694902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

Bad B0k =BBD DG
_ 1+ x2
secd—tanfd=x— — =
l—x°
(1) siné
(2) cosecd
(3) cosé
(4) coté

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 120 Question Id : 6672694903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B 805 =ABD G

A+B:gj(lﬂan‘d](lﬂanB):

(1) 1
@) 2
(3) 0
(4) -1

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 121 Question Id : 6672694904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
The angles of elevation of a tower from the top and bottom of a building

of height 30 meters are 30° and 60° respectively. Then the height of the

tower (1n meters) is:

30 b der 28 TG0 D o, Eob HWod w8 Yoo LB SR

30°. 60° oD adoo o (obpsd)

(1) 45
(2) 60
(3) 75
(4) 90

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 122 Question Id ;: 6672694905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

1+l:5:313+£;:
X X

(1) 125
(2) 110
(3) 90

(4) 105
Options:

1. %1

2 2

z %z

4 # 4

Question Number : 123 Question 1d : 6672694906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

3x—4y=T. xy=5 =9 +16y* =

(1) 120
(2) 144
(3) 169
(4) 196

Options:

1. %1

2 ® 2

3.¢¥3

4 % 4



Question Number : 124 Question Id : 6672694907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

The remainder when the polynomial 7x +13x" —19x—20 is divided by

i A 1

20 70 +13x7 —19x—20 & x + 2 I pBowm 53 Fxo.

(1) 14
(2) 18
(3) —14
(4) —18

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Number : 125 Question Id : 6672694908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =sRBD Doy

If a polynomial in x leaves remainders —19. 17 respectively when divided
by x + 4 and x — 5. then the remainder it leaves when divided by

g F
¥y —x—201s

X s adddx ~ 4 and x — 5 od rlodm Sy Japen o —19. 17 vcnd
& 250200 X° — X — 20 F 288 Sy Fao.

(1) Axhd
(2) 3x—4
(3) 4x +3
(4) 4x —3

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 126 Question Id : 6672694909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
The value of & for which the system Av + 3v =k —3 and 12x + kv =k of

equations has infinitely many solutions is:

Do BHY fx + 31 = F—3 Hodkw 12x + kv = i % ohosRbR, oderotity

I Dend,

Ja

(1)
(2)
(3) 6
(4) 7

L

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 127 Question Id ;: 6672694910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =RBD Doge

: 4 .. 2 E :
A fraction becomes = if 1 15 added to both its numerator and denominator

i . gl : 7 ; :
while it becomes = if 5 15 subtracted from its numerator and denominator.

The fraction is

4
2% 29,0 &S, S5veen BododS | B S 08 _ OPEL0D SR, TR O, ¥SoRe Bodod

1
o8 5 o BJDcHR O - OPHD0D. S BH.P.

(4)

B~ ST Ble R

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 128 Question 1d : 6672694911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the sum of first 21 terms of an arithmetic progression is 609, then the

11™ term of progression is
25 ©05336°0 3wl 2 | dmre 3wndo 609 vand ¢ 860 | 15 Hoe.

(1) 23
(2) 25
(3) 27
4) 29

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 129 Question Id : 6672694912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o ook =RBD Doy

. . 4 5 -
The harmonic mean of — and — 1s

x y
e o3
s SPTRGES A0GE0
(1) the reciprocal of average of x and v
X, 1 © Dritw G, Hesy o
(2) product of x and y
X. Voeono
(3) the average of x and v
X. Vo dntn
(4) the reciprocal of the sum of x and v
X. } © 8080 S, PB,a00
Options:
1.v1
o %5
3 %3
4 % 4

Question Number : 130 Question Id ;: 6672694913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability
B ook =sRBD Doy

. 5 . =
The coefficient of ¥ in the expansion of

(x—1)(x—=2)(x=3)... .(x—13) is

(x—1)(x—2)(x—3)... .(x—13) D5Be&® 1!’ B, rwaso.

(1) — 78
(2) 78
(3) — 9]
(4) 91
Options:
1. %1
o ® D

3¢z
4 % 4

Question Number : 131 Question Id ;: 6672694914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

The sum of all the coefficients in the expansion of (1—2x + 3x%)° is

. Al
(1= 2x + 3x7)" GAws, DB raseR, 08 dwdo.

(1) 4
(2} 211
(3) 29

(4) 0



Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 132 Question 1d : 6672694915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

2019

(1 ) 32026‘4
(2} 32‘]1;_/1
(3} 32018 4
(4] SEGI?A

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 133 Question Id : 6672694916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

1 0 0 S T
4=0 1 0. 5=0 1 §] = FFTERE AT
g 0 1 1 0 0
(1) A+B
(2) A-FB
(3) AB
(4) 0
Options:
1.1
o %D
3. % 3
4 % 4

Question Number : 134 Question Id : 6672694917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability
B 805 =ABD G

; sin x—x
lim ——=

=0 x°

1
(1) 5
. 1
(2) =
- 1
(3) 7

1
(4) o



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 135 Question 1d : 6672694918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

o 500k =BBD Feddse

. dy
If vy=xsmx, thenatx= E, R
: 2" dx

. T dy
r=xsinyeand, x=— 5 —=
1 2 Q dx

(1)

o o |

(2)
(3)

(4)

SR

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 136 Question 1d : 6672694919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

In a triangle ABC.|4=|B=|C. The bisectors of the angles |[B and [C
interect at D. Then |BDC =

25 8vzo ABC &, ABC. |A=|B=|C. Swen |B,|C ssoaxmwoss
Bwen D $g wododHotua,on. Opyt |BDC =

(1) 30°
) 60°
(3) 90°
(4) 120°

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 137 Question 1d : 6672694920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the diagonals of a thombus are 9 cm and 12 cm. then the perimeter of

the rhombus (in cm) 1s:

25 o Seboesyo DS 9 R.8., 12 3.5, 0and, 6 HivSemzo dipSes
(Ro.fn.069)

(1) 30
) 21
(3) 32
(4) 28

Options:
1.91
o %2
3 %3
4 % 4

Question Number : 138 Question Id : 6672694921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

Let P be an external point to a circle and PT be a tangent drawn from P
meeting the circle at 7. If 4B 1s a chord of the circle such that 4. B. P are

collinear. PT=5 cm and PB =4 cm then P4 = %80

25RO P 28 meangmond), Hm0, T 5g50dtey Pmod Hm08 Ao

25 9,080 PT ofoSod. A. B. P e dBScirechyiym AB %08 =
oHdr, PT=35 2ok, Heckh PB=4doand P4 =

(1) 6cm
6 .50,

(2) 6.25cm

6.25 .80,
(3) 6.5cm
6.5 2.8,
(4) 6.75cm
6.75 .80,
Options:
1. % 1
2 2
3 %3
4 # 4

Question Number : 139 Question Id : 6672694922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the area of the triangle with vertices (1. 2). (2. 3) and (x. 4) 1s 40 sq.

units then the value of |x — 3] 1s:

(1.2).(2.3). (x. 4) Bopeom fe 25 82020 520 40 w.car. oS,

[x — 3| cws, Dews.

(1) 70
(2) 80
(3) 85
4) 90

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 140 Question Id : 6672694923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
Area (1n sq. units) of the quadrilateral ABCD with vertices A(2.—1).
B4 3). €1, 2), B3 2)s

A2 ~13 & 3), 1. 23 8 3. =2) émqwmmﬁé:@ao ABCD

AwE, oeex0 (&.chw.068)

(1) 30

(2y 21

3) 22

(4) 18

Options:

1. %1

o %o

3 % 3

4 ¥ 4
Sub-Section Number: 3
Sub-Section Id: 667269494
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6672694924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

Arithmetic mean of 56. 57. 58. .... 100 1s:

56.57. 58, .... 100 o oosndds Hritw

(1) 78
(2) 80
(3) 82
4) 76

Options:
1.91
o %2
3 %3
4 % 4

Question Number : 142 Question Id : 6672694925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

The median of some observations 1s 12. If two additional observations
10. 15 are added to these observations. then the median of the new series

of observations 1s:

ﬁm&ﬁamw&o12mmﬁ@m3ﬂm1ﬂ.151)!636%&’:&36!6&)5:

Blodm 53 598 Hodode IB ognso.
(1) W]

(2) 14

(3) 13

(4) 12
Options:

1. %1

o %D

3. ¥ 3

4 ¥ 4

Question Number : 143 Question Id : 6672694926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

If the arthmetic mean of some observations 1s 26.5 and thewr median 1s

25.4. then their mode 1s:

£2R), Hodone Hritn 26.5 Soocho &8 ogshiso 25.4 oond a8 wwtso.

(1) 223
(2) 2332
(3) 234
(4) 24.3
Options:
1. %1
2.2
3 % 3
4 % 4

Question Number : 144 Question Id : 6672694927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) ~Statistical Ability
RoWEIRD aﬁ"gﬁé

Standard deviation of first 2n natural numbers is:

B 271 Dire Dowe 5 DIVBO.

4n”-1
0 2

ans 41
@
3) i
i 12

@



Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 145 Question 1d : 6672694928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(iii) ~Statistical Ability
RORETD gamgsé

10
For the ten observations X1, X2, ..., X10 it 1s given that fo =12
i=1
10
and er = 18. Then the standard deviation of the data 1s:
i=1

10
S0 Hodoven Y1, Y2, .... X0 0% Eboam&oﬂZ.Tf =12 socso
i=l

a7 =18 enah, ©osososhoIOBO.

i —='

(4)
Options:
1. %1
o ® oo
3.3
4 % 4

rjon ] e wa]on

Question Number : 146 Question Id : 6672694929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If the sum of the squares of the deviations of ranks of two students in

seven subjects 1s 21. then the coefficient of rank correlation is:

it HFR AP HmRse TyoHen Do Stpe Ao 21 vand 533

MaROoR0E TLRS50.

I
R

3)

4)

= o]~ ®lA glw

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 147 Question 1d : 6672694930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

A problem in mathematics is given to three students P. O and R whose
: 2 1 1 1 : G
chances of solving it are A and 5 respectively. Then the probability

that the problem will be solved is:
OBS0SD &% D B daie P, O, R 0 20, Hoonm aetd H,

¥ 1
RPoHLD HogRsde 5 7 ooy 5@.{:!].:53 e3 Do g ardodadher Sy

P02 Seb,

2

(1) 5

3

(2) 3

4

(3) =

5

(4) =
Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 148 Question Id : 6672694931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

Four dice are thrown simultaneously. The probability that all of them

show the same numbers 1s:

TV VB 23 RO E590Y. O, 23 HowH WRYLH HoPHS.

. 1
(1) -
1
(2) =
1
3 —
3) 720
1
4 "
4) 1440
Options:
1. %1
o WD
3 ® 3
4 % 4

Question Number : 149 Question Id ;: 6672694932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If two cards are drawn at random from a well shuffled pack of 52 cards,

then the probability of getting both cards from same suit 1s:

2R 5006 52 Segye DB Hnse 54 tod cirgRsor Soth DS Hwsemh &3,
S Dot 28 65208 BoDBHER; Doz,

1 1

(1) 17

2

(2) =

3

(3) 5

4 4

(4) o
Options:
1. %1
o %o
3. % 3
4 ¥ 4

Question Number : 150 Question 1d : 6672694933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a"ﬂ‘ﬂgsé

When two dice are rolled at random. then the probability of getting same

prime number on both dice 1s

& Both bt SRRSO HROVHW, & oo 1 28 (HEes dowy HF
DOERIES

1
1 i
(1) 5
5
2 s
( ) 36
1
(3) =
9
@) -
36
Options:
1.9 1
o %2
z ® 3
4 % 4
Corrorrmnication Ability
Section Id : 66726972
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 38
Number of Questionsto be attempted: 38
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 667269495

Question Shuffling Allowed : Yes



Question Number : 151 Question Id : 6672694934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Slipshod

(1)  slippers
(2)  careless
(3)  careful

(4)  cunning

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 152 Question 1d : 6672694935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

Choose the correct meaning for the word given:

Recalcitrant

(1)  lesson
(2 recall
(3)  sympathetic

(4)  disobedient

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 153 Question Id : 6672694936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Placid

(1)  turbulent
(2)  tranquil
(3)  agitated
(4)  troubled

Options:

1. % 1

2.2

3 % 3
4 % 4

Question Number : 154 Question Id : 6672694937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Frugal

(1)  economical
(2 financial
(3)  monetary

(4)  1ndustrial

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 155 Question Id : 6672694938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Conciliate

(1)  change
(2)  rouse

(3)  offend
(4)  placate

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 156 Question Id : 6672694939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Wholesome

(1)  delicate
(2)  gaunt
(3)  unsound
(4 healthy

Options:

1. % 1

o %D

3 ¥ 3
4. v 4

Sub-Section Number: 2
Sub-Section 1d: 667269496
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 6672694940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

A printed list of questions to be answered by a number of people is
called

(1)  aswvey

(2) anagenda

(3) amenu

(4)  aquestionnaire

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 158 Question Id : 6672694941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

Many would not prefer to live a life like that of a hermit.

(1)  solitary
(2)  solitude
(3)  solo

4y  solitaire

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 159 Question 1d : 6672694942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Fill in the blank choosing the correct word

The old people in the village still the old traditions.

(1)  observe
(2)  1gnore

(3)  discourage
(4)  forget

Options:
1.¥1

o B oo
3 ® 3
4 # 4

Question Number : 160 Question 1d : 6672694943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blank choosing the correct word

Although he 1s shy it certainly has not his career in any way

(1)  helped

(2 encouraged
(3)  impeded

(4)  impelled

Options:
1. %1
2 %
3. v 3
4 # 4

Sub-Section Number: 3
Sub-Section 1d: 667269497
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6672694944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A storage area in memory that stores information temporarily while in use 1s
known as

(1)  Buffer

(2 Bug

(3)  Capacity
(4)  Check box

Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 162 Question 1d : 6672694945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer
Pictorial representation of programming procedure is called

(1)  Algorithm
(2)  Program
(3)  Flowchart

(4)  Executive file

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 163 Question Id : 6672694946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

An inter connection of two or more computing devices 1s generally known
as
(1)  Web page
(2 Server
(3) Network
(4)  Data communication
Options:
1. %1
2 ® 2

3.¢3
4 % 4

Question Number : 164 Question Id : 6672694947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct answer
Which of the following 1s not a guided transmission media?

(1)  Fiber optic cables
(2)  Twisted pair cables
(3)  Coaxial Cables

(49 Radio waves

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 165 Question Id ;: 6672694948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

The storing and accessing of data and programs over the internet mstead of
on another type of hardware drive is known as

(1) Cloud computing
(2) Compression
(3) Content

(4) Chip

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 166 Question Id : 6672694949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer
When do you conduct an induction of a new employee in an organisation?

(1)  Before recruitment
{2 Before Selection
(3)  Before completion of probation period

(4)  Before assigning the job
Options:
1. %1
2 ® 2
z %3
4 ¥ 4

Question Number : 167 Question Id : 6672694950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A report of accounts that represents ending balance of each account in the
list at the end of the accounting period is known as

(1)  Account Receivables
(2)  Trial Balance

(3)  Allocation Rate

(4)  Asset Stripping

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 168 Question Id : 6672694951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

The economic concept that each consecutive unit of good consumed or
resource used. 1s  less useful or productive than the preceding one is known

(1)  Diminishing Returns
(2 Deflation

(3)  Depression

(4)  Discounting

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 169 Question Id : 6672694952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

One of the assumptions in economics 1s that human wants are
(1)  scarce
(2)  constrained by resource
(3)  seasonal

(4)  unlinuted
Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 170 Question Id : 6672694953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A legal document by which a bank lends money at an interest in exchange
for the title of a debtor’s property 1s known as

(1)  Mortgage

(2)  Premium

(3) Loan
(4)  Credit
Options:
1.v1
o %2
3 %3
4 % 4
Sub-Section Number: 4
Sub-Section 1d: 667269498
Question Shuffling Allowed : Yes

Question Number : 171 Question Id ;: 6672694954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A : “Look at what you have done! You have knocked me down with your
cycle.”

B : “Well vou should be more careful while crossing the road.”
‘B’ 1s

(1)  apologetic
2y furious
(3)  unapologetic

(4)  angry

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 172 Question Id : 6672694955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Choose the correct answer
A: "My friend went through many ups and downs before he could reach the

present stage."
B: “Patience has its rewards. after all™.

‘B8

(1) hostile
2)  philosophical
(3)  derogatory
(4)  unfriendly

Options:

1. %1

o vz

3 %3

4 % 4

Question Number : 173 Question Id : 6672694956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Change the following sentence into active voice: My pocket has been
picked.

(1)  Someone has picked myv pocket
(2)  Someone have picked my pocket
(3)  Someone picks my pocket

(4)  Someone has been picking my pocket

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 174 Question Id : 6672694957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

“You had better hold vour tongue.” The underlined expression means

(1)  keep the tongue between the teeth
(2)  take back what 1s said
(3)  not nunce words
(4)  not speak
Options:
1. % 1
o %D

3 ¥ 3
4 v 4

Question Number : 175 Question Id ;: 6672694958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Membership in the sports club can cost vou an arm and a leg.” The
underlined expression means. it 1s

(1)  physically strenuous
(2)  exhaustive
(3)  dangerous

(4)  expensive
Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 176 Question Id : 6672694959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Choose the correct answer

There is so much red tape involved in getting official permits. The
underlined phrase means

(1) cost
2y risk
(3)  bribe
(4) delay

Options:

1. %1

o ® 2

3. % 3

4. 9 4

Question Number : 177 Question Id ;: 6672694960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Nobody appreciated the manager throwing his weight around” The
underlined expression means

(1)  losing weight
(2)  giving up the authoritative position
(3)  wielding authority in a heavy —handed way

(4)  losing the authority and power
Options:
1. %1
2 82
3.v3
4. % 4

Sub-Section Number: 5
Sub-Section 1d: 667269499
Question Shuffling Allowed : Yes

Question Number : 178 Question Id : 6672694961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

[ must protest this course of action
(1) at
@ by
(3 from

(4) along

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 179 Question 1d : 6672694962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

He delights bemg helpful.
(1) 1n
(2) over
(3)  after

(4)  through
Options:
1.1
o %oz
3 %3
4 % 4

Question Number : 180 Question Id : 6672694963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

being a gentleman. he was also a reputed singer.

(1) Beside
(2)  Besides
(3)  Although

(4)  Despite of
Options:
1. %1
e g
3 %3
4 % 4

Question Number : 181 Question Id : 6672694964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

I waiting here for the last three hours.

(1) am
(2)  have been
(3) was
(4)  had been
Options:
1. %1
2 ¥z
3. % 3
4 % 4

Question Number : 182 Question 1d : 6672694965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blanks with the appropriate phase/verbs/ preposition:

I wish she dead.
(1)  were
(2)  was
(3)  had
(4)  has
Options:
1.¥1
2 ® o
3 % 3
4 # 4

Question Number : 183 Question 1d : 6672694966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

You are walking too fast. I can’t with you.

(1) keepup

(2)  make up
(3)  bring up
(4) getby

Options:
1.v1

o oo
o ® 3
4 % 4

Question Number : 184 Question Id : 6672694967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

I love to the stars in the sky at night.

(1)  look out
(2)  look up at
(3)  look forward

(4)  look away
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 185 Question Id : 6672694968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

A crisis can the best in someone.

(1)  bring up

| ]

(2)  bring out

(3)  bring over
(4)  bring round

Options:
1. % 1
oD
3 %z
4 % 4

Sub-Section Number: 6
Sub-Section Id: 667269500
Question Shuffling Allowed : Yes

Question Id : 6672694969 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the following passage and answer questions

To avoid the various foolish opinions to which mankind i1s prone. no
superhuman genius 1s required. A few simple rules will keep you. not from error.
but from silly error!

If the matter 1s one that can be settled by observation. make the observation
yourself. Aristotle could have avoided the mistake of thinking that women have
fewer teeth than men. by the simple device of asking Mrs. Aristotle to keep her
mouth open while he counted. He did not do so because he thought he knew.
Thmking that you know when in fact you don’t 1s a fatal mistake to which we are
all prone. I believe myself that hedgehogs eat black beetles. because I have been
told that they do: but 1f I were writing a book on the habits of hedgehogs I should
not commit myself until I had seen one enjoying this unappetizing diet. Aristotle.
however. was less cautious. Ancient and medieval authors knew all about unicorns:
not one of them thought it necessary to avoid dogmatic statements about them

because he had never seen one of them.

Sub questions

Question Number : 186 Question Id : 6672694970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What do humans require to avoid bemg dogmatic?

(1)  super human genius

(2)  open-mindedness

(3)  afew sumple rules

(4)  a firm belief in themselves

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 187 Question Id : 6672694971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What was a common personality trait in Aristotle?

(1)  He was right about his beliefs
(2)  He did not verify his beliefs
(3)  He was always obstinate

(4)  He never made any mistakes

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 188 Question Id : 6672694972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the author believe in?

(1)  Intention

(2)  Dogmatism
(3)  Verification
(4)  Ignorance

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 189 Question Id : 6672694973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What would the author do 1f he had to write a book on the eating habits of
hedgehogs?

(1)  see hedgehogs eating black beetles
(2)  believe that hedgehogs ate black beetles
(3)  write about hedgehogs eating black beetles

(4)  read about hedgehogs eating black beetles.

Options:



1.1
o %o
3 %3
4 % 4

Question Number : 190 Question Id : 6672694974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to the author, what did the ancient and medieval authors feel
about their observations?

(1) It was foolproof
(2) It was cautious
(3) It was doubtful

(4) It was verified
Options:
1.91
o R
3 % 3
4. # 4

Sub-Section Number: 7
Sub-Section 1d: 667269501
Question Shuffling Allowed : Yes

Question Id : 6672694975 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the following passage and answer questions

Most managers don’t do things in the order of priority that they have
rationally selected. They do things according to feelings. That’s how their day i1s
run. Professional managers fall into two categories. There are doers and there are
feelers. Doers do what needs to be done to reach a goal that they themselves have
set. They come to work having planned out what needs to be done. Feelers. on the
other hand. do what they feel like doing. Feelers take their emotional temperature
throughout the day. checking in on themselves. figuring out what they feel like
doing right now. Their lives, their outcomes. their financial security are all dictated
by the fluctuation of their feelings. Their feelings will change constantly, of course,
so 1t’s hard for a feeler to follow anything through to a successful conclusion. By
contrast. a doer has high self-esteem. A doer enjoys many satisfactions throughout
the day. even though some of them were preceded by discomfort. A feeler is
almost always comfortable. but never really satisfied. A doer experiences more and
more power every year of his life. A feeler feels less and less powerful as the vears

go on.

Sub questions

Question Number : 191 Question Id : 6672694976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 1s the major shortcoming in most managers?

(1)  they are mactive
(2)  they do not act rationally
(3)  they are dependent on others

(4)  they are foolish
Options:
1. %1
e
3. % 3
4 % 4



Question Number : 192 Question Id : 6672694977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who 1s a “feeler’?

(1)  aperson with a goal
(2)  aperson who plans his day
(3)  aperson who is a slave to his emotions
(4)  aperson who enjoys life
Options:
1. % 1
o %D
=¥z
4 % 4
Question Number : 193 Question 1d : 6672694978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

What 1s the meaning of “emotional temperature™ ?

(1)  constant changes in one’s feelings

2)  the temperature of the physical body
(3)  intensity of one’s emotions
(4)  attitude to life

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 194 Question Id : 6672694979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What does a ‘doer” have?

(1)  plenty of work

(2)  high self-esteem

(3)  aloss of confidence
(4)  others to work with

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 195 Question Id : 6672694980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does a ‘feeler” experience as the years go by?

(1)  a sense of achievement
(2)  asense of failure
(3)  asense of satisfaction

(4)  asense of happiness
Options:
1. %1
2 2
z %3
4 % 4

Sub-Section Number: 8
Sub-Section 1d: 667269502
Question Shuffling Allowed : Yes

Question Id : 6672694981 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following passage and answer questions

It requires a sense of superiority assurance, and self-confidence, to write
about bores at all. except as one of them. But since a true bore is always
unconscious of his ‘borishness’. and indeed usually thinks of himself as the most
companionable of men. to write as one of them 1s to acquit oneself of the stigma.

Bores are happy largely because they have so much to tell and they can find
people to tell it to. The tragedy is they can always find their listeners. me almost
first And why can they? Why can even notorious bores always be sure of an
audience? The answer is the ineradicable kindness of human nature. Few men are
strong enough to say ‘For Heaven’s sake go away. you weary me’

One of the bore’s greatest assets i1s his simplicity which disarms. Astute
crafty men are seldom bores: very busy men are seldom bores.

Sub questions

Question Number : 196 Question Id : 6672694982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which quality 1s NOT required to write about bores?

(1)  Kindness
(2)  Confidence
(3) A sense of superiority

(4)  Belief mn oneself
Options:
1.91
o R
3 % 3
4. # 4

Question Number : 197 Question Id : 6672694983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following 1s NOT true of a true bore?

(1)  being conscious of his boorishness
(2)  being happy by and large
(3)  finding their listeners

(4) sure of an audience

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 198 Question Id ;: 6672694984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why are bores happy?

(1)  they love their audience
(2)  they have never faced any tragedy in their lives
(3)  they always find their listeners

(4)  they are loved by everyone

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 199 Question Id : 6672694985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which quality stands out in a bore?

(1)  Astuteness
(2)  Cunningness
(3)  Simplicity
(4)  Busyness

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 200 Question Id : 6672694986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does ‘ineradicable’ mean?

(1)  extreme
(2)  feeling
(3)  shameless
(4)  deep-rooted
Options:
1. % 1
o %D

3 % 3
4 ¥ 4



